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Note : First 15 minutes are allotted for Fhe
candidates to read the question

paper.
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Instruction :
All questions are compulsory.

i)
Marks allotted to each question

are given in the margin.
In numerical questions, give all

the steps of calculation.
[ Turn over

ii)
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iij) Give relevant answers to the
. uestions.
iv) Give chemical cquations

wherever necessary. :
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Zn + Cu2"(aq)__,zn2+(aq }+ Cu

[E;.n"’?/zn =-0-76 V,
Cu+2/cu=-+o'34 V)
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) rIio i) 010 dke
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) min”
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n cach part
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Four alternatives are given i
the correct

of this question.
alternative and wri

book : ‘ )
licon and germanium are

a)

b)
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Sclect
te it in your answer-

Pure si
i Conductors

i) Insulators
ii1) Semi-conductors
iv) none of these. . o1
The depression of freezing point 1S

proportional to :
" Mole fraction of the solution

i) Molarity of the solution

i) Molality of the solution

ivl" Molality of the solvent. 1
For the following cell reaction

Zn + Cu2*(aq)—> Zn**(ag)+ Cu
° = 0. V,
(EZn*"’/Zn 0-76
’ =-+0-34V
cu*? /cu +0-3 )
The E.M.F. of the cell is
1:10 volt  ii). 0-10 volt

i)

o=ARH

i)
-1'10volt ivy -0-110volt. 1
| Turn over
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d)

@)

m

The unit of rate constant of zerg
order reaction is

i) min ™’

ii) L. mole™ .min!
i) mole. L', min~!

iv) dimensionless. |
PCl 5 reacts with water to form -

i) PH 3 i) H 4 PO 3

1ii) POC]3 iv) H3P04. , 1

The enzyme pepsin hydrolyses

9 proteins to amino acid

u] fats to fatty acid

!u) glucose to ethyl alcohol

iv) polysaccharides to
monosaccharides. 1

C;c'pmﬁﬁwm?ﬁm
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h.c.p. ¥iicis & g wor fag & 2 .
25:6 T FEH F 1000 T Fodef F
W"m ?-,f:_'ﬂ'ﬁﬂm,p. 80-1°C %.m
feriw d s@ = 0-680°C W fem
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AR H k7T 68 k/m ¥ 9
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Calculate the packing efficiency in

c.c.p structure. How does it differ
from packing efficiency in h.c.p.

* structure ? 2

b)

d)

3. &)

@)
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A solution containing 256 gm of
sulphur dissolved in 1000 gm of
naphthalene, whose m.p. is 80-1°C
gave a freczing point lowering of
0-680°C. Calculate the molecular
weight of sulphur. k! for

naphthalene is 68 k/m. 2
Determine the equilibrium constant
with the help of Nernst equation. 2
Justify that the time required to
complete 99-9% of 1st order reaction
is 10 times of its half life ume. 2
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01 mol L™ KCI faet@ R} W W T

T ¥ & WAy 100 Q &) TR
3@ ¥ N W™ 0:02 mol L™ KCl
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i) AT HeRar

i) Hicwera T Hi 3 1+1

What .happens when (write chemical

equations only ) —

i) Chlorine oxidises iodine in the
presence of water ?

ii) Chlorine reacts with cold and
dilute solution of sodium
hydroxide ? 1+1

When a conductivity cell was filled

with 01 mol L™' KCl, it has a

_ resistance of 100 Q. If the same cell

was filled with an aqueous solution

of 0:02 mol L™ of KCl, resistance
became _5_20 Q. Hence find out the
conductivity and molar conductivity

of 0002 mol L~ KCl [ The

conductivity of 0-1 mol L-!
solution is 1-29 s/m }. : Kc2l
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Explain molecularity and or<l:lesr of ;
reaction with suitable examples.

Write the relationship between the
following : .

i) Normality and Molanty. .3
iij Molality and Mole fraction. 1

) froafefes @ oAl & qoeRi®
fa=ra fafan -
(x) cCr* y) Ce**

i) N AT Td IRENE WA &
A g fefau 3 4.1

) WR wRew ek s
W A WA few weR ww
ST & 2 WEERY |

i) YR F WS W Rt
m%f@q| ;

ii qﬁQﬁW - -
)mmﬁ”m'l+l+1

fedfedt mur s, wifeen wmgiem

FEHZ T Ay ar T

¢ 2 R 1%+1%
. 1+14+1
[ Turn over
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a)

b)

d)

8

. o down the clectromc

! t-\o::}'fgumtion of the fO“OWmS
two ions : "

() Cr y) Ce™

ii) Write down the structura)
formulae of chromate ang
dichromate ions. 2+ 1

i) How is decron obtained from
ethylene glycol and terephthalic
acid ? Explain.

1) Write chemical equations for
reactions involved in synthesis
of Bakelite.

) Write the chemical equation
for - the synthesis of
polyacrylonitrile. . 1#%1+%]

Cimetidine and ranitidine are better

antacids than sodium hydrogen

carbonate and magnesium or
aluminium hydroxide. Give reason.

1 441
2 2

Write down the applications of
Helium, Ncoq and Argon. 1+1+1

®) i) Feldes sogdem 9 N

LU.P.A.C = feff -
X} K,lCr(C,0 A
y) iColNH3]5lC03)] cl
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i) [Fe(NH,),(CN);]™ ¥ SEa
qoEEe §EAK FRY 2+ 2
10T FT gQ FAfeitad i SRl

i)

i)

1 gl g3 WA ey
NH,, (CH,),N,
CH,NH,, (CH,),NH.

SRTATAY Fa0r | FERE=T aur

Fe (iii') Cu (iv) zn

. 1+1+
Write _l.U.P.A.C names of thle %
followmg coordination |
Compounds :

X) K3[Cr(C20 L]
y) [Co(NH3 ’S(CO:, el

347(WC)

b)

d)

6. W)

10

i) Draw the structures of"
geometrical isomers of
| Fe(NH,),(CN), ]~ 2+2

i) Write giving reason, the
increasing order of basic
characteristics in the
following :

NH,, (CHs)sN,
CH3NH2, (CH3)2NH. ;

i) How would you prepare
chlorobenzene from diazonium
salt and aniline from
chlorobenzene ? Write chemical
equation only. 2+2

Write short notes on the following :
1) Electrophoresis
i) Tyndall effect
i) Dialysis
iv) Brownian movement.

) 5 & o B |
Write the main ores of the

following metals with . their
chemical formulae :

() Al (i) Fe ‘(i) Cu (iv) Zn
. 1+1+1+1
) el dfe @ 9w 1w
Hioen 2

- %) m&ﬁlﬁm
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CH,
i) curzn—clzn'— —CH,
H3OH CH,
Hy .

1) OH
Hy
iii) CHg—O—CHfEH—CH:,
. -7 CH,4
OCH,

COCH,
v)

v} (CH,),C.OH

14-!+1+1+1
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3+2
6.2) i) How would.you

Prepare phenol —
x) from diazonium salt ?
¥} from sulphonic acid ?
2) from cumene ?

i) Differentiate between Primary,
secondary and

‘tertiary alcohols
according to their structures.

l+1+14+2

Give LUPAC. names of the

following compounds :

. . H3 ' .

i) Cﬂg—iﬂ H~ ~CH,
H, OH CH,

D65438



b)

D65438

P) Acetophenone fro

13 347(Wc\
Hj
. ~N
i) s OH
CH,
iii) CHy-O—CHzCH—CHg
| . Hs,
OCH,

COCH5 . .
iv)

v) (CH,),C.OH

e following :
i)
u) |
iii)
iv)

Etard reaction
Rosenmund reaction
Gatterman-Koch reaction
Aldol condensation :
v) Cannizzaro's reaction.

I1+1+1+1+]
- OR
How would you obtain —

m Benzoyl
chloride ? '

Acetophenone from Benzene ?
r) Acetophenone from
nzonitrile ? .
Write down the distinc
Aldehydes ang Keton
help of

tion between
Fehling solutio
regent,

€S with the
N and Schifps
3+2

| Turn over
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What happens when (Give chemical
equations only ) —

i) Ethyl bromide is heated with
alcoholic KOH ?. ,

i) Methyl chloride reacts with dry
ethereal sodium ?

iii) Phosphine gas is passed in
copper sulphate solution ? .

iv) White phosphorus is heated
with  concentrated  sodium
hydroxide solution ?

V) Copper is  heated with
concentrated sulphuric acid ?

14141414
OR

| Turn over;
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WI'ilc short notes on the following :

l) Wurlz reaction

i) Wurtz-F-‘iuig reaction

ul)  Genera| clectronic confj
of p-block clements

Uses of phosphine

Interhalogcn compounds,

guration

. I+1+1+]1+)
b)  Write down the structures and
names of the prodycts formed when
D-glucose s treated with the
following : .
1) Hydroxylamine
1)  Hydroiodic acid
iii) Nitric acid
1v) Bromine water
V)  Acetic anhydride.
l1+1+1+1+41
. OR '
Discuss the structure of glucose in
detail.’ S
347(WC) - 2,55,000
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